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SUKKUR IBA TESTING SERVICES  
Merit-Quality-Excellence 

 
SAMPLE TEST PAPER 

(Assistant Director - Internal Audit Unit, Financial Analyst - Debt Management Unit & 
Financial Analyst - Tax Reform Unit at Economic Reform Unit)  

 

PART-I (ENGLISH)     20 QUESTIONS 

PART-II (MATHEMATICS)   10 QUESTIONS  

PART-III (GENERAL KNOWLEDGE/I.Q) 10 QUESTIONS 

PART-IV (SUBJECT RELATED)   60 QUESTIONS  

 

 

PART-I (ENGLISH) 

 
READING COMPREHENSION 

Read the following passage carefully and answer the questions set below it. 

Can we see that the earth is a globe? Yes, we can, when we watch a ship that sails out to sea. If we watch 

closely, we see the ship begin to disappear. The bottom of the ship disappears first, and then the ship seems 

to sink lower and lower, until we can only see the top of the ship, and then we see nothing at all. What is 

hiding the ship from us? It is the earth. Stick a pin most of the way into an orange, and slowly turn the 

orange away from you. You will see the pin disappear, just as a ship does on the earth. 

 

1.  This story is mainly about - 

A. the shape of the earth.       B. traveling to the New World. 

C. sailing ships in the old days.      D. the shapes of fruits, such as oranges. 

 

2.  The ship in this story - 

A. probably sank to the bottom of the ocean.     B. was going farther and farther away. 

C. was actually a toy.        D. was a sailing ship. 

 

3.  A globe is shaped like - 

A. a box.         B. a pyramid. 

C. an orange.                                          D. an ice cream cone.  

 

 

VOCABULARY: SYNONYMS 

 

1. Their diet is often grossly unbalanced. 
A. Completely   B. nearly  C. often  D. frequently 

 

2. The whole thing is a vicious circle.   
A. severe     B. very bad   C. dangerous     D. critical     
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VOCABULARY: ANTONYMS 

 

1. The people must then go hungry.  
A. well-kept    B. well cared for  C. well looked after  D. well fed 

 

2. A particular country might be generous.   
A. miserly         B. moderate      C. extravagant      D. frugal  

 

 
USE OF PREPOSITION 

 

1. The committee regrets that it cannot accede ______ your request for a month’s paid leave.  

A. for    B. to    C. in   D. with 

 

 

2. Our college is affiliated ________ the University of Sindh. 

A. with   B.to    C. for   D. in 

 

ERROR DETECTION 

 

1. George has not completed the assignment yet and Maria hasn’t neither. 

                      A                                 B               C                             D 

 

2. The sun rose before I got up. 

          A        B      C           D 

 

          
 

 

PART-II MATHEMATICS 
 

1. My brother is 3 years elder to me. My father was 28 years of age when my sister was born 

while my mother was 26 years of age when I was born. If my sister was 4 years of age when my 

brother was born, then what was the age my father when my brother was born? 

           A. 35 years B. 34 years 

           C. 33 years D. 32 years 

 

2. The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling 

along the boundary of the park at the speed of 12 km/hr completes one round in 8 minutes, 

then what is the area of the park (in sq. m)? 

            A. 142000 B. 112800 

            C. 142500 D. 153600 
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PART-III (GENERAL KNOWLEDGE/I.Q) 

 
 

1. Who is the current UN representative from Pakistan? 

 

 A. Mian Muhammad Nawaz Sharif  B. Maleeha Lodhi 

 C. Masood Khan     D. None 

 

 

2. At which place Pakistan had conducted its nuclear tests in 1998. 

A. Khewra 

B. Tharparkar 

C. Khyber Agency 

D. Chaghi 

 

PART-IV (SUBJECT RELATED) 

 
 

1. Under purchasing power parity, the future spot exchange rate is a function of the initial spot rate in 

equilibrium and: 

 

A. the income differential. 

B. the forward discount or premium. 

C. the inflation differential. 

D. All of above 

 

2. Considered alone, which of the following would increase a company’s current ratio? 

A. An increase in net fixed assets. 

B. An increase in accrued liabilities. 

C. An increase in notes payable. 

D. An increase in accounts receivable. 
 


